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1-3

1)
1
[ ] 45
50
50
44 4) /v 3
1)
N/mm? N/mm?
(mm) N/mm?2
16 40
16 40
SM490A 215 325 125 187 325 315 295 490 610
2 [N/mm2]
8.8 290 660 200 381 660 830
ST ( 1)




2-1

Dp

EHir

wUJ

h+t
VAV T
I,
Di | Do
Uy
AR, t
h+t
-2.1.1 2
[ S50 ]
Do m 3.550
Di m 3.294
m 1.00
h m 0.125
Rc m 1.7168 1
De m 3.394
ns 6
a ° 14.5
m 0.0030
tr m 0.014
ts m 0.009
0 s ° 11.250
:Rc=Do/2-yo
yo =
2 (tr h (t+h/2)+25 t2 t/2)

yo =

2 (tr h+25 ©)

2x (0.014x 0.125x (0.0030 + 0.125 / 2 )+ 25x 0.00302x 0.0030 / 2 )

2x (0.014x 0.125 + 25x 0.00302)

= 0.0582 (m)

tr

Rc = 3.550 / 2 - 0.0582 = 1.7168 (m)

0.0030 (m)

0.014 (m)

ST ( 1)



Ab n

LT

|B1 {bw
Y=:VIVIAN Dy 4 — Y- PRV
-2.1.2
Ms 20
Qb m 0.023
Ab m2 0.000314
An m2 0.000245
Nrb 32
IB1 m 0.0200
Nbw 1
tow m 0.0030
In m 0.016
Cb % 60
hss m 0.0750
ST

1)



2-2

ugv_ N Vsi y ti
7 6L - (m/sec) (kN/m3)
7 &
o 2 5 137 17.000
e 3 3 144 16.000
[} 8
o @
LQ ™
[9V]
W 4 10 172 17.000
N
£
o
o
~
<
N
1
I
5 2 126 16.000
!
6 12 183 17.000
A\VA
7
50 300
-2.2.1
Vsi (m/sec)
Vsi = 100Ni/3(1 Ni 25)
Vsi = 80Ni/3(1 Ni 50)
Ni =0 Vsi= 50
Ni i

ST




5m

300m/s
N=25

25

N=50

( 300m/s

GL-24.700m

ST



3-1

" Hi
Tc= 4% Ve
i= 1 SI
Te (sec)
Hio i (m)
Vs (m/sec)
Hi(m) Vsi(m/sec) 4 Hi/Vsi(sec)
0.500 2 101 0.020
2.800 5 137 0.082
1.900 144 0.053
3.300 10 172 0.077
12.200 2 126 0.387
4.000 12 183 0.087
24.700 0.706
Tc = 0.706 (sec)
ST

1)



3-2

( )
Ts=1.25 Te=1.25x 0.706 = 0.883 (sec)
Ts
Te 0.706(sec)
3-3
1
1621 53 10 20 ) A
1.0 0.85 0.7
0.40 |-
0.30 |-
(0.5,0.240)
020 L (0.5,0.204)
(0.5,0.168)
88 oe0ia
0.08 (0.25,0.120)
0.07
Sv 0.06
(cm/s) 0.05 (0.1,0.0525)
(0.1,0.0446)
0.04 (0.1,0.0368)
0.03 | [ | | | [
0.1 0.2 0.3 0.4 05 0.7 1 2 3 4
Ts( )
-3.3.1
Ts =0.883 (sec) Sv  0.240 (m/sec)
ST
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3-4

Gs
Y i@
Gs=———— VDs?
g
16.000
Gs = x 126.02 25920 (kN/m2)
9.8

Gs (kN/m2)

g 9.8 (m/sec?)

VDs 126.0 (m/sec)

H 24.700(m)

Ts 0.883(sec)

Y ti2) 2) 16.000(kN/m3)
Hi(m) v 1 (kN/md)
0.500 18.000
2.800 17.000
1.900 16.000
3.300 17.000
12.200 16.000
4.000 17.000

ST

1)

10



3-5

1 L2

L:
L= 2L1 L2 _ 2x 98.8 x 264.9
L1+ L2 98.8 + 264.9

= 143.9 (m)

L1
Li1=Vps Ts=4H =4 x 24,700

=98.8 (m)

L2

L2 =Ves Ts=300x 0.883

=264.9 (m)
H 24.700 (m)
VBs 300 (m/sec)
Ts 0.883 (sec)

ST

L1

1)

11



3-6

Kg1
Kgt =C1 Gs=1x 25920 = 25920 (KN/m?)
Kg2
Kg2 =C2 Gs=1x 25920 = 25920 (KN/m?)
Kg3
Kga =Cs Gs=3x 25920 = 77760 (KN/m?)
Ci1 C2 Cs3 Kol Kg2 Kg3
Ci1 C2 1.0 C3 3.0
Gs 25920 (kN/m?)
Te sec 0.706
Ts sec 0.883
Sv m/sec 0.240
Y teq kN/m3 16.000
Vs m/sec 126.0
Gs kN/m2 25920
L m 143.9
Kol kN/m?2 25920
Kg2 kN/m?2 25920
Kg3 kN/m?2 77760
ST

1)

12



4-1
1)
(
( )
N
|=n@B 6
1B
Kj _EshAs
N < =N N =
N « (EA)Teq =N N =
-4.1.1
@
(
( + )

|I=n@B

ST

13



4-2

Do m 3.550
Di m 3.294
B m 1.00
Rc m 1.7168
Dp m 3.394
t m 0.0030
hs m 0.118
ts m 0.009
bs m 0.089
R1 m 0.0135
R2 m 0.0225
Nja 26
hj m 0.125
tj m 0.014
nj 12
Mg 20
0B ° 11.250
Qb m 0.023
Ab m?2 0.000314
An m?2 0.000245
Nrb 32
IB1 m 0.0200
Nbw 1
thw m 0.0030
In m 0.016
Ch % 60
hss m 0.0750
ST

1)

14



(2 As Is

40
Ast =40 t2 na+20 t2 n;

= 40x 0.0030 2x 26 + 20x 0.0030 2x 12

15

20

2F I —h ASt

40t

=0.0115 (m2)
fu o As2
EOAYRFEIR AS3
-4.2.1
s
As2 = (ts (hs-R2)+ (R2-R12)+ts (bs-R2)) nja
4
s
= (0.009% (0.118 - 0.0225) + x (10.02252 - 0.01352 ) + 0.009x ( 0.089 - 0.0225) )x 26
=0.0445 (m?)
As3 = t hj nj
= 0.014x 0.125x 12 = 0.0210 (m?)

Ass = Asi + As2 + As3

As = Ass

Ass

As1

As2

As3

= 0.0115 + 0.0445 + 0.0210 = 0.0770 (m?)

0.0770 (m?)
0.0115 (m2)
0.0445 (m2)

0.0210 (m2)

ST ( 1)



2)
Is
10 ( D3* - D4*)
Is =
64
D3 (m) =2 Rc+tc
D4 (m) =2 Rc-tc
tc: (m)
As 0.0770
tc = = = 0.0071 (m)
2 Rc 21 x 1.7168
Rc 1.7168 (m)
As 0.0770 (m?)
D3= 2 Rc+tc = 2x 1.7168 + 0.0071 = 3.4407 (m)
Da= 2 Rc-tc = 2x 1.7168 - 0.0071 = 3.4265 (m)
Is
T (3.44074 - 3.4265%)
Is = = 0.1129 (m%)
64
3) Ks
Es Ass 210000000x 0.0770
Ks = = = 16170000 (KN/m)
B 1.00
Es 210000000 (KN/m2)
Ass 0.0770 (m?)
B 1.00 (m)
ST

1)
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4-3 kj
-4.3.1
1
1 1 2
= +

Kj Ks Kp

Ki

KB

Kp ( )

TH

UDJlFRILE

-4.3.1

Eiy)

U IREMRIb

B
=>

wuo

ST
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£ 2 I

An | Ab
I'n
In IB2 31
kB2 kB
-4.3.2
ks
EB An

Ty b
1
k1 kB2
ks =
k1 + kB2

An/ Ab IB1+1IB2 + I'n

210000000x 0.000245

1405542 (kN/m)

0.000245 7/ 0.000314x 0.0200 + 0.011 + 0.010

KB

Ke = kB nrb = 1405542% 32 = 44977344 (kN/m)

Es
An
Ab
ks1
ks2
IB1

IB2

210000000 (KN/m?)
0.000245 (m?)
0.000314 (m2)

0.0200 (m)

IB2=2 tr+now tow-IB1

=2x 0.014 + 1x 0.0030 - 0.0200

= 0.011 (m)

I'n=In Cb
= 0.016x 0.60 = 0.010 (m)

(Cb = 60

ST (

1)



ke =
-4.3.3
1)
35
-43.4a
@ MBEERET Y
£ i
2 p 2

)

-4.3.4

1/3

PI2
192E|

1/6

ST

1)



0.125x 0.01483

-4.3.4
192 Es Ip
kp =
i3
h tr3
Ip = =
12

12

= 28583 10-12 (m¥)

i= Rp Os

Es
tr
Rp
0s

T /180

192 x 210000000 x 28583 x 10-12

kp =

0.3333

Kp

Kp = kpx nm = 31210 x 32 = 998720 (kN/m)

1.697 x 11.250 x 1 / 180 =

0.125 (m)
210000000 (kN/m2)
0.014 (m)
1.697 (m)
11.250(° )

= 31210 (kN/m)

nro = 32

ST

0.333 (m)

1)

20



1 1 2
= +
Kj Ks Kp
Ke Kp
Kij=—
Kp + 2KB
1 ki
ks kp 1405542x 31210
kj = = 15434 (kN/m)
ke + 2kB 31210 + 2 x 1405542
Kj
Ki = ki nm = 15434 x 32 = 493888 (kN/m)
4)
Ks Kp Ks Kp Ks
Ki
-4.3.5
Kp kN/m 998720
Ks kN/m 44977344
Kj kN/m 493888
Ks kN/m 16170000
ST ( 1)

21



4-4

(EA)Ceq = Es As = 210000000 x 0.0770

(EA)Teq

= 16170000 (kN)

Ass

1
= Es
(Ks/Kj)+1
_ 1
(16170000 / 493888 ) + 1
= 479250 (kN)
(EA)Ceq
(EA)Teq
Es
As
Ass
Ks
Kj

x 210000000x 0.0770

ST

(kN)

(kN)

210000000 (kN/m2)
0.0770 (m2)

0.0770 (m?)
16170000 (kN/m)

493888 (KN/m)

1)

22



4-5

210000000 (kN/m2)
0.1129 (m4)

(rad)

493888 (kN/m)

cos3@
(El)eq = Es Is
cosQ +(m /2+¢@ ) sing

Es

Is

¢

Ki
1 Kj

@ +cotp = T ( + )
2 Es As/B
(El)eq
1 Kj
¢ tcotgp = m ( +
2 Es As/B
1 493888
= T ( +
2 210000000 x 0.0770 /7 1.00
= 1.667
@ =0.946 (rad)
cos 30.946
(El)eq =

€05 0.946 + (11 / 2+ 0.946) x sin 0.946

1806724 (kN m?)

x 210000000 x 0.1129

As m2 0.0770

Ks kN/m 16170000
(EA)Ceq kN 16170000
(EA)Teq kN 479250

Ki kN/m 493888
(El)eq kN m2 1806724

ST (

1)
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a) h(z)
nZz
Unz) = Sv Ts cos (
2 2H
2 T x 12.500
= x 0.240x 0.883x cos ( —————— ) =0.0301 (m)
2 2 x 24,700
Sv 0.240(m/sec)
Ts 0.883(sec)
z 12.500(m)
H 24.700(m)
b) %
Uv Unz 1/2
1 1
Uv = Uh@) = x 0.0301 = 0.0151 (m)
2 2
U=Asin [27[*’1
> Acose
N X
. zaw
Asine—| A:Uh(z):%2 Sve Tse coOS %
L/cosé
Us Asiné
sHEEHU. LU=Asiné - sin (M%bﬂ X)
Ur Acosd
BHOZNU. U=Acos ¢ - sin [ch%b o X)
-5.1.1

ST



5-2

PCh =

PTh =

PCv =

-5.2.1
PCh
m  Unhg
a1 ————— ( EA )Ceq
L
1 x 0.0301
0.627 x ————————— x 16170000 = 6662.437 (kN)
143.9
PTh
T Unhg
ol ————— (EA)Teq
L
1 x 0.0301
0.983x ———————— x 479250 = 309.579 (kN)
143.9
PCv
T (Ung +Uv)
a1 (EA )Ceq
2L
m x (0.0301 +0.0151)
0.627 x x 16170000 = 5002.362 (kN)
2 x 143.9
Mh
D)
P
/
—
P
PS,
%//r PTh
My
-5.2.1
ST

1)



PTv =

PTv

T (Un@ +Uv)

aTr (EA )Teq
2L
m x (0.0301 +0.0151)
0.983 x x 479250 = 232.441 (kN)
2 x 143.9
Mh
4112 Un@)
o2 ————— (El )eg
L2
412 x 0.0301
1.000 x x 1806724 = 103.680 (kN m)
143.92
. Mv
42 Uv
a3 ——————————— (Eleq
L2
412 x 0.0151
1.000 x x 1806724 = 52.012 (KN m)
143.92
Qh
83 Unw
o2 —————— (El )eg
|_3
8m 3 x 0.0301
1.000 x x 1806724 = 4.527 (kN)
143.93
Qv
8m3 Uv
a3 T (El )eg
|_3
8m 3 x 0.0151
1.000 x x 1806724 = 2.271 (kN)
143.93
(EA)Ceq
(EA)Teq
(EDeq
Uh@z)
Uv
L
ST

16170000(kN)

479250(kN)

1806724(kN m2)

0.0301(m)

0.0151(m)

143.9(m)

26



a0 a1 a2 a3

1

aCi=
1+(2m /(A C Li))?2

1
= = 0.627
1+ (21 /(0.040 x 203.5) )2

1

aTi=
1+(2m /(ANT1 Li))?2

1
- = 0.983
1+ (21 /(0.233 x 203.5) )2

1

1+(2m /(A2 L))4

1
- = 1.000
1+ (21 /(0.346x 143.9) )

1

1+(2m /(A3 L))4

1
- = 1.000
1+(2m /(0.455% 143.9) )

Ko 25920

AcCL= — = ———— = 0.040 (I/m)
(EA)Ceq 16170000
Kot 25920

ATi= — = ——— = 0.233(/m)
(EA)Teq 479250

Kg2 25920

AN2= 4 ———— = 4] —— = 0.346 (I/m)
(El)eq 1806724
Kgs 77760

ANs= 4 ——— = 4] ————— = 0.455(/m)
El)eq 1806724

(
L= 42 L = 42 x 1439 = 2035(m)

Kot 25920 (kN/m2)
Kg2 25920 (kN/m2)
Kg3 77760 (KN/m2)

ST



pCH kN 6662.437
PT KN 309.579
pcy kN 5002.362
PTy kN 232.441
Mh kKN m 103.680
Mv kN m 52.012
Qn kN 4.527
Qv kN 2.271
Un m 0.0301
Uv m 0.0151
ST

1)
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5-3
45
1)
a)
. 1
PCo* = 77—
Y
_r
KR
b)
M 1
h' = ——
12
1
2
Mh
PCo

-5.3.1

5-2

. PCo’

PCo

x 11782.334 = 8331.368 (kN)

‘Mn'

Mh

x 103.680 = 73.313 (kN m)

103.680(kN m)

PCo= 4 2PCh2 + 2PCy2 = 4/ 2 x 6662.4372 + 2 x 5002.3622

= 11782.334 (kN)

ST

1)
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a) :Po
1
PTo' = 4/: PTo
2
1
= —— x b547.481 = 387.128 (kN)
A2
b) My
Mv* L M
V= —— v
N2
1
= —— x 52.012 = 36.778 (kN m)
N2
Mv
PTo

PTo= 4 2PTh2 + 2PTy2

52.012(kN m)

A 2x 3005792+ 2x 232.4412

547.481 (KN)

PCo’ kN 8331.368

PTo* kN 387.128

Mh* kN m 73.313

Mv* kKN m 36.778
ST

1)
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a) . PCmax(k

Pmax (KN)

N)

PCmax =& € PCo’

b)  PTmax(k

N)

PTmax =& T PTo'

EC
ET
¢ ¢T
cos(2m n /L)
go= 1+
cosh(AC (Li/2-n))
(EA )Teq aTy cos(2m n /Li)
T= (1 -
( EA )Ceq a C1 cosh(A Tt n )
n 0<n <Li/4
21 21 [
aTt tanh (A T2 n)+ — oC tanh (A C( —
ATt L A G Li
n
-(aT1-aC) tan(2m —— )=0
Li
AT1 0.233 (I/m)
A G 0.040 (I/m)
Li 203.5 (m)
aT: 0.983
a C1 0.627
n
n =33.755 (m)

ST

1)
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£€Cc &7

cos(2m n /L)

ge= 1+
cosh(AC (Li/2-n))
cos (2 x 33.755/ 203.5)
= 1+ = 1.066
cosh (0.040 x (203.572-33.755))
(EA )Teq aTy cos(2m n /Li)
& 7= (1 -
( EA )Ceq a C1 cosh(A Tt n )
479250 0.983 cos (2m x 33.755/203.5 )
= x x (1- ) = 0.046
16170000 0.627 cosh (0.233 x 33.755)
PCo"  8331.368 (kN)
PTo'  387.128 (kN)
PCmax= & € PSo' = 1.066 x 8331.368 = 8881.238 (kN)
PTmax= & T PTo' = 0.046 x 387.128 = 17.808 (kN)
(2) Mmax (KN m)
Mh* My’

Mh'  73.313 (kN m)

Mv'  36.778 (kKN m)

Mmax= Mh' = 73.313 (kN m)
PCrmax (kN) 8881.238
PTmax (kN) 17.808
Mmax (KN m) 73.313

ST ( 1)



5-5

a) 10 Cp

PCmax Mmax
o Cp' = + yZS
As Is
yzs (m)
Vzs Do/2=3550/2 = 1.775 (m)
As 0.0770 (m?)
8881.238 73.313
o Cp' = + x 1.775
0.0770 0.1129

= 116493 (kN/m2)

116.493 (N/mm?)

ST

1)
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b) 0B
o B o Bl
OB= OBL+OR2
0 BL
PTmax 17.808
O B1= = = 2271 (kN/m?2)
As 0.007840
2.271 (N/mm?)
As = An nrb=0.000245 x 32 =0.007840 (m2)
An 0.000245 (m?)
Nrb 32 (' /Ring)
O B2
fj
o B2=
An
fi (kN)
Mmax B T sing
fj = Rc(1+sing ) Kkj
Es Is cosé@
73.313 x 1.00 T X sin0.946
= X
210 x 108x 0.1129 c0s30.946
= 1.889 (KN)
Mmax
Is
B
Es
Q ( )
N
Rc
o B2
fj 1.889
O B2= = 7710 (KN/m?)
An 0.000245
7.710 (N/mm?)
o B
OB= OBL+0B2 = 2.271 + 7.710 = 9.981 (N/mm2)

ST

O B2

x 1.7168 x (1 +sin0.946 ) x 15434

73.313 (kN m)
0.1129 (m4)

1.00 (m)
210000000 (kN/m2)
0.946 (rad)

15434 (kN/m)
1.7168 (m)

34



c) O]
oijl
gj= Oj1+0j2
oj1
PTmax 17.808
ojl= Bm 10193.878 x
Nrb 32
=5673 (kN/m2)  5.673 (N/mm2)
3 3 x 0.333
Bm =
4 h tr? 4 x 0.125 x 0.0142

= 10193.878 (kN/m?)

o2

0j2 = Bm fj =10193.878 x 1.889

= 19256 (kN/m2)

19.256 (N/mm2)

Bm
Bt

Nrb

tr

oj= Ojitop =

1(kN)

1(kN)
32
0.333 m
0.125 (m)
0.014 (m)

5.673+19.256 =  24.929 (N/mm?)

ST

1)
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Tij=

= 159 (kN/m?)

Bt

T j2

TiL+1Tj2

PTmax

Bt
Nrb

1

Tl

= 285.714 x

0.159 (N/mm?)

1

17.808

32

2 h tr

= 285.714 (KN/m?)

2x 0.125 x 0.014

T2

= Bt fj =285.714 x 1.889

= 540 (kN/m?)

0.540 (N/mm2)

Tj= TL+T j2 = 0.159 + 0.540 0.699 (N/mm?)
(2)
O BlL N/mm?2 660 2.271 OK
oijl N/mm? 325 5.673 OK
Tjl N/mm?2 187 0.159 OK
O B2 N/mm?2 660 7.710 OK
oj N/mm? 325 19.256 OK
Tj2 N/mm?2 187 0.540 OK
o °p’ N/mm?2 325 116.493 OK
gB N/mm? 660 9.981 OK
gj N/mm?2 325 24.929 OK
Tij N/mm?2 187 0.699 OK
ST

1)
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a) ( ): 3¢

PTmax PTmax

Ks Kj
17.808 17.808

16170000 493888

0.00003716(m)  0.0372 (mm)

PTmax
Ks
Ki

ebt =(dt/Lbc) 100 = (0.0372731.0) x

Lbc 2 tn+tw now = 2 x

tr1
tbw

Nbw

€ bt =0.1200 ( )

37

17.808 (kN)
16170000 (kN/m)
493888 (KN/m)

100 = 0.1200 ( )

14 +3.0x 1 = 31.0 (mm)

14 (mm)
3.0 (mm)
1()

=2200( ) OK

ST ( 1)



36
XY
Y

X

=t

‘ . BHES

6.1.1 36
(m) Y (m) (m) (m)

1 0.0000 1.7168 | 19 0.0000 -1.7168
2 0.2981 1.6907 | 20 -0.2981 -1.6907
3 0.5872 1.6133| 21 -0.5872 -1.6133
4 0.8584 1.4868 | 22 -0.8584 -1.4868
5 1.1035 1.3151| 23 -1.1035 -1.3151
6 1.3151 1.1035| 24 -1.3151 -1.1035
7 1.4868 0.8584 | 25 -1.4868 -0.8584
8 1.6133 0.5872| 26 -1.6133 -0.5872
9 1.6907 0.2981| 27 -1.6907 -0.2981
10 1.7168 0.0000| 28 -1.7168 0.0000
11 1.6907 -0.2981| 29 -1.6907 0.2981
12 1.6133 -0.5872| 30 -1.6133 0.5872
13 1.4868 -0.8584 | 31 -1.4868 0.8584
14 1.3151 -1.1035| 32 -1.3151 1.1035
15 1.1035 -1.3151| 33 -1.1035 1.3151
16 0.8584 -1.4868 | 34 -0.8584 1.4868
17 0.5872 -1.6133| 35 -0.5872 1.6133
18 0.2981 -1.6907 | 36 -0.2981 1.6907

ST

1)
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39

a)
Ar=2 (tr h+25 t2)
=2x (0.014 x 0.125+ 25 x 0.00302) = 0.003950 (m?)
m 0.003950 7/ 1.00 = 0.003950 (m2/m)
b)
2 (tr h (t+h/2)+25 t2 t/2)
yo =
2 (tr h+25 t2)
_ 2x (10.014x 0.125x (0.0030 + 0.125 / 2 )+ 25x 0.00302x 0.0030 / 2)
2x (0.014x 0.125 + 25x 0.00302)
= 0.0582 (m)
i =h+t-yo
=0.125 + 0.0030 - 0.0582
=0.0698 (m)
c)
troyis tr(yo-1t)3 t 25 t¢
IsE=  2( + +25t2(yo- —— )2+ —————— )
3 3 2 12
0.014 x 0.0698 3 0.014 x ( 0.0582 - 0.0030) 3
= 2 ( +
3 3
0.0030 25 x 0.00304
+25x 0.00302x (0.0582- ——— )2+ )
2 12

= 0.000006190845 (m*)  6190845x 10-12 (m*)

6190845x 10-12 / 1.00 = 6190845x 10-12 (m#)

tr 0.014 (m)
t 0.0030 (m)
yi 0.0698 (m)
Yo 0.0582 (m)
B 1.00 (m)

ST ( 1)



6-1

Pri Pyt PH1
TEEEEREREN
W
/
<< 45°
< 45°
AN
q q
Pr2 PH2
Pv1
O O
Pq
.6.1.2
Pvi kN/m?2 207.100
PH1 kN/m? 166.420
PH2 kN/m?2 210.380
Wg kN/m? 1.000
Pg kN/m2 3.142
q kN/m? 14.800
O pygwmy | 9O q(kN/m2)
1 0 166.4200 90 0.0000
2 36 10 166.7542 80 0.0000
3 35 20 167.7451 70 0.0000
4 34 30 169.3647 60 0.0000
5 33 40 171.5629 50 0.0000
6 32 50 174.2720 40 1.3467
7 31 60 177.4100 30 4.3348
8 30 70 180.8821 20 7.6412
9 29 80 184.5835 10 11.1657
10 28 90 188.4000 0 14.8000
11 27 100 192.2165 10 11.1657
12 26 110 195.9179 20 7.6412
13 25 120 199.3900 30 4.3348
14 24 130 202.5280 40 1.3467
15 23 140 205.2371 50 0.0000
16 22 150 207.4353 60 0.0000
17 21 160 209.0549 70 0.0000
18 20 170 210.0458 80 0.0000
19 180 210.3800 90 0.0000
ST

1)
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XO—>—%9
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X Y X Y
(m) (m) (m) (m) (m) (m)
1 0.006006 | _-0.008556 | _ 0.000000
2 0.005928 | -0.008136|  0.002714| 36 0.006084 | -0.008136 | -0.002714
3 0.006119 | -0.006977 |  0.004983 | 35 0.005894 | -0.006977 | -0.004983
4 0.006745 | -0.005356 | __0.006450 | 34 0.005268 | -0.005356 | _-0.006450
5 0.007809| -0.003627 | _ 0.006916 | 33 0.004204 | -0.003627 | -0.006916
6 0.009144 | -0.002117 | _ 0.006368 | 32 0.002868 | -0.002117 | -0.006368
7 0.010477| -0.001030|  0.004977| 31 0.001535| -0.001030 | -0.004977
8 0.011519| -0.000403| _ 0.003043| 30 0.000494 | -0.000403 | -0.003043
9 0.012058 | -0.000125]  0.000915] 29 | -0.000046| -0.000125] -0.000915
10 0.012013] __ 0.000000 | _-0.001109 | 28 0.000000 | __0.000000 | __0.001109
11 0.011426|  0.000180| -0.002840| 27 0.000586 | 0.000180 | _ 0.002840
12 0.010436|  0.000578 | -0.004166 | 26 0.001577 | 0.000578| _ 0.004166
13 0.009235|  0.001279] -0.005001] 25 0.002778 | _ 0.001279|  0.005001
14 0.008035|  0.002275| -0.005291| 24 0.003978 | 0.002275| _ 0.005291
15 0.007023|  0.003466 | -0.005029 | 23 0.004990 | 0.003466 |  0.005029
16 0.006321|  0.004686 | -0.004262 | 22 0.005691 |  0.004686 |  0.004262
17 0.005966 | 0.005743 | -0.003084 | 21 0.006046 | 0.005743|  0.003084
18 0.005903 | 0.006460 | _-0.001617 | 20 0.006109 | 0.006460 | _ 0.001617
19 0.006006 | 0.006714 | _ 0.000000
4)
M(kN m) Q(kN) N(kN) M(kN m) Q(kN) N(kN)
1 1 12.292 -3.356 317.294] 36 | 1 12.292 3.356 317.294
1 2 11.288 -3.356 317.294| 36 | 36 11.288 3.356 317.294
2 2 11.288 -9.552 320.530] 35 | 36 11.288 9.552 320.530
2 3 8.429 -9.552 320.530] 35 | 35 8.429 9.552 320.530
3 3 8.429 -13.734 326.443] 34 | 35 8.429 13.734 326.443
3 4 4.319 -13.734 326.443| 34 | 34 4.319 13.734 326.443
4 4 4.319 -15.340 334.011] 33 | 34 4.319 15.340 334.011
4 5 -0.271 -15.340 334.011] 33 | 33 -0.271 15.340 334.011
5 5 -0.271 -14.097 341.994] 32 | 33 -0.271 14.097 341.994
5 6 -4.490 -14.097 341.994| 32 | 32 ~4.490 14.097 341.994
6 6 -4.490 -10.398 348.973| 31 | 32 ~4.490 10.398 348.973
6 7 ~7.602 -10.398 348.973| 31 | 31 ~7.602 10.398 348.973
7 7 ~7.602 -5.343 353.877] 30 | 31 ~7.602 5.343 353.877
7 8 -9.201 -5.343 353.877] 30 | 30 -9.201 5.343 353.877
8 8 -9.201 -0.287 356.428 | 29 | 30 -9.201 0.287 356.428
8 9 -9.286 -0.287 356.428 | 29 | 29 -9.286 0.287 356.428
9 9 -9.286 3.285 357.041] 28 | 29 -9.286 -3.285 357.041
9 | 10 -8.303 3.285 357.041] 28 | 28 -8.303 -3.285 357.041
10 | 10 -8.303 5.230 356.555| 27 | 28 -8.303 -5.230 356.555
10 | 11 -6.738 5.230 356.555 | 27 | 27 -6.738 -5.230 356.555
11 [ 1 -6.738 6.553 355.471] 26 | 27 -6.738 -6.553 355.471
1 | 12 —4.777 6.553 355.471] 26 | 26 4777 -6.553 355.471
12 [ 12 —4.777 7.677 353.863| 25 | 26 —4.777 ~7.677 353.863
12 | 13 ~2.480 7.677 353.863| 25 | 25 ~2.480 ~7.677 353.863
13 | 13 -2.480 8.157 351.892| 24 | 25 -2.480 -8.157 351.892
13 | 14 -0.039 8.157 351.892 | 24 | 24 -0.039 -8.157 351.892
14 | 14 -0.039 7.866 349.784 | 23 | 24 -0.039 ~7.866 349.784
14 | 15 2.315 7.866 349.784 | 23 | 23 2.315 ~7.866 349.784
15 | 15 2.315 6.783 347.941] 22 | 23 2.315 -6.783 347.941
15 | 16 4.345 6.783 347.941] 22 | 22 4.345 -6.783 347.941
16 | 16 4.345 5.155 346.664 | 21 | 22 4.345 -5.155 346.664
16 | 17 5.888 5.155 346.664 | 21 | 21 5.888 -5.155 346.664
17 | 17 5.888 3.269 345.809 | 20 | 21 5.888 -3.269 345.899
17 | 18 6.866 3.269 345.899 | 20 | 20 6.866 -3.269 345.899
18 | 18 6.866 1.051 345.556 | 19 | 20 6.866 -1.051 345.556
18 | 19 7.181 1.051 345.556 | 19 | 19 7.181 -1.051 345.556
ST 1)
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6-2

Kh

Kho

Bh

.6.2.1

Kh CEBRH B EN 2)

Kh Ks
)Kh
Kho (Bn/0.3) 34
1703 ao Eo
v B Dc
B 10.00 (m)
Dc 3.4336(m)
o 1.0
Eo Eo = 2800
Ks
Ks 0.3 Kn
ST

*, Ks (RS BENT)

(kN/m2)

1)



N
T 1 o500 [ 2
2.800 5
3 1.900 3
£
é
S 4 3.300 10
IQ]
£
R -
L/ :
I
T
5 12.200 2
6 4.000 12
Eo Bh Kho Kh Ks
(kN/m2) (m) (kN/m3) (kN/m3) (kN/m3)
1 0.500 2 5600 5.860 18667 2009.021 602.706
2 2.800 5 14000 5.860 46667 5022.553 1506.766
3 1.900 3 8400 5.860 28000 3013.532 904.060
4 3.300 10 28000 5.860 93333 10045.106 3013.532
5 12.200 2 5600 5.860 18667 2009.021 602.706
6 4.000 12 33600 5.860 112000 12054.127 3616.238
ST 1)
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6.2.1
1 1
ds(m) Kn (kN/m3) Ks (kN/m?) i K i Ks
1 5 0.2996 2009.021 602.706 601.979 180.594
2 | 36 | 5 0.2996 2009.021 602.706 601.979 180.594
3 | 35 | 5 0.2996 2009.021 602.706 601.979 180.594
4 | 34 | 5 0.2996 2009.021 602.706 601.979 180.594
5 | 33 | 5 0.2996 2009.021 602.706 601.979 180.594
6 | 32 | 5 0.2996 2009.021 602.706 601.979 180.594
7 | 31| 5 0.2996 2009.021 602.706 601.979 180.594
8 | 30 | 5 0.2996 2009.021 602.706 601.979 180.594
9 | 29 | 5 0.2996 2009.021 602.706 601.979 180.594
10 | 28 | 5 0.2996 2009.021 602.706 601.979 180.594
11 | 27 | 5 0.2996 2009.021 602.706 601.979 180.594
12 | 26 | 5 0.2996 2009.021 602.706 601.979 180.594
13 | 25 | 5 0.2996 2009.021 602.706 601.979 180.594
14 | 24 | 5 0.2996 2009.021 602.706 601.979 180.594
15 | 23 | 5 0.2996 2009.021 602.706 601.979 180.594
16 | 22 | 5 0.2996 2009.021 602.706 601.979 180.594
17 | 21 | 5 0.2996 2009.021 602.706 601.979 180.594
18 | 20 | 5 0.2996 2009.021 602.706 601.979 180.594
19 5 0.2996 2009.021 602.706 601.979 180.594
ST ( 1)
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(%)
- HEAEA WEAKEH Y
AQh=AUhXKh  AQh=AUhXKh
0
.6.2.2
2 nZz
a) Uhgp=—— Sv Ts cos( ——
2 2H
b) U sinB (m)
) U cosB (m)
a) gk= U sin®@ ds Kn (kN/m)
b) g= U cos® ds Ks(kN/m)
1 1
Z(m) Uhz)(m) U(m) U sin@ U cosB .
m) m) ds Kh(kN/m?) | ds Ks(kN/m2) gk(KN/m) Qj(kN/m)
1 10.7832 0.0332 0.0066 0.0000 0.0066 601.979 180.594 0.000 1.192
2 10.8093 0.0332 0.0066 0.0011 0.0065 601.979 180.594 0.690 1.174
3 10.8867 0.0331 0.0065 0.0022 0.0061 601.979 180.594 1.338 1.103
4 11.0132 0.0328 0.0062 0.0031 0.0054 601.979 180.594 1.866 0.970
5 11.1849 0.0325 0.0059 0.0038 0.0045 601.979 180.594 2.283 0.816
6 11.3965 0.0322 0.0056 0.0043 0.0036 601.979 180.594 2.582 0.650
7 11.6416 0.0317 0.0051 0.0044 0.0026 601.979 180.594 2.659 0.461
8 11.9128 0.0312 0.0046 0.0043 0.0016 601.979 180.594 2.602 0.284
9 12.2019 0.0307 0.0041 0.0040 0.0007 601.979 180.594 2.431 0.129
10 12.5000 0.0301 0.0035 0.0035 0.0000 601.979 180.594 2.107 0.000
11 12.7981 0.0295 0.0029 0.0029 -0.0005 601.979 180.594 1.719 -0.001
12 13.0872 0.0289 0.0023 0.0022 -0.0008 601.979 180.594 1.301 -0.142
13 13.3584 0.0284 0.0018 0.0016 -0.0009 601.979 180.594 0.938 -0.163
14 13.6035 0.0279 0.0013 0.0010 -0.0008 601.979 180.594 0.599 -0.151
15 13.8151 0.0274 0.0008 0.0005 -0.0006 601.979 180.594 0.310 -0.111
16 13.9868 0.0270 0.0004 0.0002 -0.0003 601.979 180.594 0.120 -0.063
17 14.1133 0.0268 0.0002 0.0001 -0.0002 601.979 180.594 0.041 -0.034
18 14.1907 0.0266 0.0000 0.0000 0.0000 601.979 180.594 0.000 0.000
19 14.2168 0.0266 0.0000 0.0000 0.0000 601.979 180.594 0.000 0.000
20 14.1907 0.0266 0.0000 0.0000 0.0000 601.979 180.594 0.000 0.000
21 14.1133 0.0268 0.0002 -0.0001 -0.0002 601.979 180.594 -0.041 -0.034
22 13.9868 0.0270 0.0004 -0.0002 -0.0003 601.979 180.594 -0.120 -0.063
23 13.8151 0.0274 0.0008 -0.0005 -0.0006 601.979 180.594 -0.310 -0.111
24 13.6035 0.0279 0.0013 -0.0010 -0.0008 601.979 180.594 -0.599 -0.151
25 13.3584 0.0284 0.0018 -0.0016 -0.0009 601.979 180.594 -0.938 -0.163
26 13.0872 0.0289 0.0023 -0.0022 -0.0008 601.979 180.594 -1.301 -0.142
27 12.7981 0.0295 0.0029 -0.0029 -0.0005 601.979 180.594 -1.719 -0.001
28 12.5000 0.0301 0.0035 -0.0035 0.0000 601.979 180.594 -2.107 0.000
29 12.2019 0.0307 0.0041 -0.0040 0.0007 601.979 180.594 -2.431 0.129
30 11.9128 0.0312 0.0046 -0.0043 0.0016 601.979 180.594 -2.602 0.284
31 11.6416 0.0317 0.0051 -0.0044 0.0026 601.979 180.594 -2.659 0.461
32 11.3965 0.0322 0.0056 -0.0043 0.0036 601.979 180.594 -2.582 0.650
33 11.1849 0.0325 0.0059 -0.0038 0.0045 601.979 180.594 -2.283 0.816
34 11.0132 0.0328 0.0062 -0.0031 0.0054 601.979 180.594 -1.866 0.970
35 10.8867 0.0331 0.0065 -0.0022 0.0061 601.979 180.594 -1.338 1.103
36 10.8093 0.0332 0.0066 -0.0011 0.0065 601.979 180.594 -0.690 1.174
ST 1)
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X Y X Y
(m) (m) (m) (m) (m) (m)

1 0.005634 | 0.000000 | -0.000028

2 0.005633 | -0.000014 | -0.000084| 36 0.005633 | 0.000014 | -0.000084

3 0.005621 | -0.000059 | -0.000245]| 35 0.005621 |  0.000059 | -0.000245

4 0.005575 | -0.000157 | _-0.000493 | 34 0.005575 | 0.000157 | _-0.000493

5 0.005464 | -0.000314 | -0.000798 | 33 0.005464 | 0.000314 | -0.000798

6 0.005260 | -0.000517 | -0.001126| 32 0.005260 | _ 0.000517 | -0.001126

7 0.004945 | -0.000737 | -0.001437 | 31 0.004945 |  0.000737 | -0.001437

8 0.004519 | -0.000936 | -0.001695| 30 0.004519|  0.000936 | -0.001695

9 0.004001 | -0.001074| -0.001867 | 29 0.004001|  0.001074| -0.001867

10 0.003432 | -0.001124 | -0.001933 | 28 0.003432 | 0.001124| -0.001933

11 0.002860 | -0.001074 | -0.001883 | 27 0.002860 |  0.001074 | -0.001883

12 0.002336 | -0.000934 | -0.001721] 26 0.002336 | 0.000934 | -0.001721

13 0.001902 | -0.000732| -0.001468 | 25 0.001902 | 0.000732 | -0.001468

14 0.001580 | -0.000507 | _-0.001153 | 24 0.001580 |  0.000507 | -0.001153

15 0.001371] -0.000299 | -0.000814| 23 0.001371]  0.000299 | -0.000814

16 0.001259| -0.000140| -0.000493 | 22 0.001259 | 0.000140| -0.000493

17 0.001214 | -0.000044 | -0.000229 | 21 0.001214 | 0.000044 | -0.000229

18 0.001203 | -0.000005 | _-0.000057 | 20 0.001203| __0.000005 | _-0.000057

19 0.001202 | 0.000000] _ 0.000003

@)
M(kN m) Q(kN) N(kN) M(kN m) Q(kN) N(kN)
1 1 0.000 -1.624 0.230] 36 | 1 0.000 -1.624 -0.230
1 2 -0.486 -1.624 0.230| 36 | 36 0.486 -1.624 -0.230
2 2 -0.486 -1.436 0.669] 35 | 36 0.486 -1.436 -0.669
2 3 -0.916 -1.436 0.669| 35 | 35 0.916 -1.436 ~0.669
3 3 -0.916 -1.072 1.035] 34 | 35 0.916 -1.072 -1.035
3 4 -1.237 -1.072 1.035| 34 | 34 1.237 -1.072 -1.035
4 4 -1.237 -0.599 1.265] 33 | 34 1.237 -0.599 -1.265
4 5 -1.416 -0.599 1.265| 33 | 33 1.416 -0.599 -1.265
5 5 -1.416 -0.056 1.347] 32 | 33 1.416 -0.056 -1.347
5 6 -1.433 -0.056 1.347] 32 | 32 1.433 -0.056 -1.347
6 6 -1.433 0.531 1.273] 31 | 32 1.433 0.531 -1.273
6 7 -1.274 0.531 1.273] 31 | 31 1.274 0.531 -1.273
7 7 -1.274 1.037 1.034] 30 | 31 1.274 1.037 -1.034
7 8 -0.964 1.037 1.034] 30 | 30 0.964 1.037 -1.034
8 8 -0.964 1.425 0.664] 29 | 30 0.964 1.425 -0.664
8 9 -0.537 1.425 0.664| 29 | 29 0.537 1.425 -0.664
9 9 -0.537 1.673 0.205] 28 | 29 0.537 1.673 -0.205
9 | 10 -0.036 1.673 0.205| 28 | 28 0.036 1.673 -0.205
10 | 10 -0.036 1.706 ~0.295| 27 | 28 0.036 1.706 0.295
10 | 11 0.474 1.706 ~0.295| 27 | 27 -0.474 1.706 0.295
11 [ 1 0.474 1.524 ~0.770| 26 | 27 -0.474 1.524 0.770
1 | 12 0.930 1.524 ~0.770| 26 | 26 -0.930 1.524 0.770
12 [ 12 0.930 1.141 “1.161] 25 | 26 -0.930 1.141 1.161
12 | 13 1.272 1.141 “1.161] 25 | 25 -1.272 1.141 1.161
13 | 13 1.272 0.641 ~1.422] 24 | 25 -1.272 0.641 1.422
13 | 14 1.464 0.641 “1.422[ 24 | 24 -1.464 0.641 1.422
14 | 14 1.464 0.057 -1.521] 23 | 24 -1.464 0.057 1.521
14 | 15 1.481 0.057 -1.521] 23 | 23 -1.481 0.057 1.521
15 | 15 1.481 -0.561 -1.433] 22 | 23 -1.481 -0.561 1.433
15 | 16 1.313 -0.561 “1.433] 22 | 22 -1.313 -0.561 1.433
16 | 16 1.313 -1.121 ~1.163] 21 | 22 -1.313 -1.121 1.163
16 | 17 0.977 -1.121 -1.163| 21 | 21 -0.977 -1.121 1.163
17 | 17 0.977 -1.524 ~0.761] 20 | 21 -0.977 -1.524 0.761
17 | 18 0.521 -1.524 ~0.761] 20 | 20 -0.521 -1.524 0.761
18 | 18 0.521 -1.742 ~0.262] 19 | 20 -0.521 -1.742 0.262
18 | 19 0.000 -1.742 ~0.262| 19 | 19 0.000 -1.742 0.262
ST 1)
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X Y X Y
(m) (m) (m) (m) (m) (m)
1 0.011641| -0.008556 | -0.000028
2 0.011561| -0.008149|  0.002630| 36 0.011717| -0.008122| -0.002797
3 0.011739] -0.007036|  0.004738| 35 0.011515| -0.006919 | -0.005228
4 0.012320| -0.005513 | _ 0.005958 | 34 0.010842 | -0.005199 | _-0.006943
5 0.013273| -0.003941|  0.006118| 33 0.009668 | -0.003313| -0.007714
6 0.014405| -0.002634| _ 0.005243| 32 0.008128 | -0.001600| -0.007494
7 0.015422 | -0.001767 |  0.003540| 31 0.006480 | -0.000292 | -0.006414
8 0.016038 | -0.001339] _ 0.001348| 30 0.005012 | 0.000533| -0.004738
9 0.016060 | -0.001199 | -0.000952| 29 0.003955 |  0.000949 | -0.002783
10 0.015444 | -0.001124 | -0.003043 | 28 0.003432 | 0.001124 | -0.000824
11 0.014286| -0.000893 | -0.004723| 27 0.003446 | 0.001254|  0.000957
12 0.012772] -0.000356 | -0.005887 | 26 0.003913 | 0.001512|  0.002444
13 0.011137|  0.000548 | -0.006469 | 25 0.004680 | 0.002011[  0.003533
14 0.009615|  0.001768| -0.006444| 24 0.005557 | 0.002782| _ 0.004138
15 0.008394 | 0.003167 | -0.005843 | 23 0.006361|  0.003764 |  0.004214
16 0.007580 | 0.004546 | -0.004755| 22 0.006950 | 0.004826 | _ 0.003769
17 0.007180|  0.005699 | -0.003314| 21 0.007260 |  0.005787 | _ 0.002855
18 0.007106 | 0.006455 | _-0.001673 | 20 0.007312 | _ 0.006465 | _ 0.001560
19 0.007209 | 0.006714 | _ 0.000003
©)
M(kN m) Q(kN) N(kN) M(kN m) Q(kN) N(kN)
1 1 12.292 -4.980 317.524] 36 | 1 12.292 1.732 317.064
1 2 10.802 ~4.980 317.524| 36 | 36 11.774 1.732 317.064
2 2 10.802 -10.988 321.199] 35 | 36 11.774 8.116 319.861
2 3 7.513 -10.988 321.199] 35 | 35 9.345 8.116 319.861
3 3 7.513 -14.806 327.478| 34 | 35 9.345 12.662 325.408
3 4 3.082 -14.806 327.478| 34 | 34 5.556 12.662 325.408
4 4 3.082 -15.939 335.276 | 33 | 34 5.556 14.741 332.746
4 5 -1.687 -15.939 335.276| 33 | 33 1.145 14.741 332.746
5 5 -1.687 -14.153 343.341] 32 | 33 1.145 14.041 340.647
5 6 -5.923 -14.153 343.341] 32 | 32 -3.057 14.041 340.647
6 6 -5.923 -9.867 350.246 | 31 | 32 -3.057 10.929 347.700
6 7 -8.876 -9.867 350.246| 31 | 31 -6.328 10.929 347.700
7 7 -8.876 -4.306 354.911] 30 | 31 -6.328 6.380 352.843
7 8 -10.165 ~4.306 354.911] 30 | 30 -8.237 6.380 352.843
8 8 -10.165 1.138 357.092 29 | 30 -8.237 1.712 355.764
8 9 -9.823 1.138 357.092| 29 | 29 -8.749 1.712 355.764
9 9 -9.823 4.958 357.246| 28 | 29 -8.749 -1.612 356.836
9 | 10 -8.339 4.958 357.246| 28 | 28 -8.267 -1.612 356.836
10 | 10 -8.339 6.936 356.260 | 27 | 28 -8.267 -3.524 356.850
10 | 11 -6.264 6.936 356.260 | 27 | 27 -7.212 -3.524 356.850
11 [ 1 -6.264 8.077 354.701] 26 | 27 -7.212 -5.029 356.241
1 | 12 -3.847 8.077 354.701] 26 | 26 -5.707 -5.029 356.241
12 [ 12 -3.847 8.818 352.702] 25 | 26 -5.707 -6.536 355.024
12 | 13 -1.208 8.818 352.702] 25 | 25 -3.752 -6.536 355.024
13 | 13 -1.208 8.798 350.470 | 24 | 25 -3.752 -7.516 353.314
13 | 14 1.425 8.798 350.470 | 24 | 24 -1.503 ~7.516 353.314
14 | 14 1.425 7.923 348.263| 23 | 24 -1.503 ~7.809 351.305
14 | 15 3.796 7.923 348.263| 23 | 23 0.834 ~7.809 351.305
15 | 15 3.796 6.222 346.508 | 22 | 23 0.834 ~7.344 349.374
15 | 16 5.658 6.222 346.508 | 22 | 22 3.032 ~7.344 349.374
16 | 16 5.658 4.034 345.501] 21 | 22 3.032 -6.276 347.827
16 | 17 6.865 4.034 345.501] 21 | 21 4.911 -6.276 347.827
17 | 17 6.865 1.745 345.138 | 20 | 21 4.911 -4.793 346.660
17 | 18 7.387 1.745 345.138 | 20 | 20 6.345 ~4.793 346.660
18 | 18 7.387 -0.691 345.294| 19 | 20 6.345 -2.793 345.818
18 | 19 7.181 -0.691 345.294| 19 | 19 7.181 -2.793 345.818
M(kN m) N(kN) Qmax(kN)
+Mmax 36 12.292 317.064
-15.939
~Mmax 7 8 -10.165 354.911
ST 1)

48



6-3

=0
=12.292 (KN m)
=8
=9
=-9.286 (KN m)

=1.481 (kN m)

=-1.481 (kN m)

=36
=1
=12.292 (KN m)

=7
=8
=-10.165 (kN m)

ST ( 1)
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=0
=0

=0.000 (kN)
=8
=9

= 356.428 (kN)

=14
=15

= -1.521 (kN)
=22
=23

=1.433 (kN)

=36
=1

= 317.064 (kN)
=7
=8

= 354.911 (kN)

ST ( 1)
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-15.340 (kN)
-1.742 (kN)

c)

20 19| 18

21

-15.939 (kN)

1)

ST



=1 8
M(kN m) N(KN)
+Mmax 12.292 317.064
-Mmax 8 -10.165 354.911
1000N 1000000M (1+C )
To= N 2
. 1000N 1000000M (1+C )
v Ar ) Zi
T0
Ti
Ar
Z0
Zi
¢
1000N 1000000M (1+C )
To= +
Ar Zo

1000 x 317.064

(N/mm?2)
(N/mm2)
3950 (mm2)
106372 (mm3)
88694 (mm3)

0()

1000000 x 12.292 x (1+0.00)

3950

1000N

1000000M (1+2 )

Ar

Zi

1000 x 317.064

=195.8 (N/mm?)
106372

1000000 x 12.292 x (1+0.00)

3950

1000N

1000000M ( 1+ )

Ar

Z0

1000 x 354.911

= -58.3 ( N/mm2)
88694

1000000 x -10.165 x (1 +0.00)

3950

1000N

1000000M (1+2 )

Ar

Zi

1000 x 354.911

= -5.7 (N/mm?)
106372

1000000 x -10.165 x (1 +0.00)

3950

= 204.5 ( N/mm2)
88694

ST ( 1)
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1)
B
Fu b
M - 20
IB mm 0.0200 q
An m2 0.000245 An | Ab 4<
Ab m2 0.000314 —
Nsb 4
-6.4.1
2)
3]
t l N/
M o
I L A A VG | D -1 S
e 4 < HHH —> N V1720 PR
h T L] | /J;
N
™
|
-6.4.2
M
N
co (M (1-T)-N (y-1)) B
nsb  hss
T 1 (N/Ring)
Yo 0.0582 (m
t 0.0030 (m)
hes 0.0750 (m
B 1.00 (m)
¢ 0 (%)
ST (

FEE
v

1)
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(a) T ( =1)

M =12.292 (kN m/m)

=1 N = 317.064 (kN/m)

(12.292 x (1-0.00) -317.064 x (0.0582 - 0.0030))x 1.00

T = = -17.366 (kN)
4 x 0.0750
Tt O
T1 -17.366
O BlL= = = -70882 (kN/m2) -70.9 (N/mmz)
An 0.000245
T1 (kN)
o Bl (N/mm2)

ST ( 1)



-6.4.3 K
a =145°
Q=N (sina -f" cosa )-Q (cosa +f sina )
fr=0.3( )
K 6 k=0° 50° Qk
N (sina - Q (cosa +
N (KN/m) Q (KN/m) f' cosa ) ' sina ) Qxk (KN/m)
1 1 317.524 -4.980 -12.721 -5.195 -7.526
1 2 317.524 -4.980 -12.721 -5.195 -7.526
2 2 321.199 -10.988 -12.869 -11.463 -1.406
2 3 321.199 -10.988 -12.869 -11.463 -1.406
3 3 327.478 -14.806 -13.120 -15.447 2.327
3 4 327.478 -14.806 -13.120 -15.447 2.327
4 4 335.276 -15.939 -13.433 -16.629 3.196
4 5 335.276 -15.939 -13.433 -16.629 3.196
5 5 343.341 -14.153 -13.756 -14.765 1.009
5 6 343.341 -14.153 -13.756 -14.765 1.009
6 6 350.246 -9.867 -14.032 -10.294 -3.738
(Qxkmax)
Qkmax = 3.196 (KN/m)
1Ring
Qkmax = Qkmax B = 3.196 x 1.00 = 3.196 (kN/Ring)
T BK
Qkmax 3.196
T BK = = = 2545 (kN/m2) 2.5 (N/mm2)
nsb  Ab 4 x 0.000314
ST (

1)
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Qmax

Qmax= Qmax B = -15939x 1.000 = -15.939
Qmax 15.939
T8B= =
nsb  Ab 4 x 0.000314
= 12690 (kN/m2)  12.7 (N/mm?)
4)
a)
+
N/mm?2 325 195.8 OK
N/mm?2 325 -58.3 OK
N/mm?2 325 -5.7 OK
N/mm?2 325 204.5 OK
b)
N/mm?2 660 OK
( N/mm? 381 2.5 OK
( N/mm2 381 12.7 OK
ST

1)
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7-1

§ 16
A Ve A
AT Hj N
h : &r/
H | /
Us !
7 ’
2HE :
O =tanl( U/h)
mh
Uniz) = Sv Ts cos (
2 2H
U = Un(0) - Un(h)
0 (rad)
z (m)
Un@z) Z (m)
h 17.000 (m)
Sv 0.240 (m/sec)
H 24.700 (m)
Ts 0.883 (sec)
Un() (m)
Unh) (m)
1)
a) ; Un()

2
Uh() = x 0.240 x 0.883 x cos 0 = 0.043 (m)
T[Z

ST ( 1)
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b) ; Un(h)

1 x 17.000

Un(h) = x 0.240x 0.883x cos (

U= Un@©) - Unt) =0.043 - 0.02 = 0.023 (m)

2)
u
6 = tanl(— )

h
0.023

= tan-!
17.000

= 0.0014 (rad) = 0.080 °

72 2x 24.700

) = 0.02 (m)

ST

1)
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7-2

d =¢ s} |
€ g )=(m /L) Un
Un@) (m)
L ( ) (m)
| (m)
a) ; Un@)
2 mh
Uniz) = Sv Ts cos (
2 2H
z =12.500 (m)
1T x 12.500
Unhz) = x 0.240x 0.883x cos ( —— ) =0.0301 (m)
T2 2x 24.700
b) |
=B =1.00 (m)
c) o)
€ g= (m /143.9)x 0.0301 = 0.0007
e}
0 =¢ gx 1=0.0007 x 1.00 =0.0007 (m)
o = 0.0007 (m) <= =0.003 m OK

ST



60

€b =(8 /Lbc) 100 = (0.7000731.0)x 100 = 2.2581 ( )

Lbc 2 tn+tow now = 2x 14 +3.0x 1 = 31.0 (mm)
tr1 14 (mm)
tow 3.0 (mm)
Nbw 1()
€ pb=22581( ) =22.00( ) OK

ST ( 1)



